202156 AEE /INESE [ £ ] ARA—FER-EEXEX—E BEHEEA 4

T T I

MEES |E=|az i RE & EEE(RER|EEE MEES |RA|BE e EEE|RER|BEE HEES |ERA|BE Ek=E EEE|BEER|BEE HEES |E=|az i RE A EEEBRER|EEE
1] 2 | Al |oEE 86.6 | 13.4 0.0 1| R 7 | A2 [EHOBEAERY 132 | 60.0| 268
1] @ 2 | Al |pirE 86.7 | 13.3 0.0 1| 92 7 | Bl [EHOZEAERY 434 | 50.2 6.4
1] @® 2 | A1 |mBRASE 90.8 8.8 0.5 1| fE3 9 | Bl [EHDHZEAEY 479 | 46.7 5.3
1] @ 2 | Al |/NEDLE 89.0 | 10.9 0.2 1| 94 9 | Bl [EHDHZEARY 66.1 | 294 4.6
1] 2 | Al |INRODYE 789 | 204 0.8 1| R85 9 | Bl [EHD&ZEAEY 431 [ 469 | 100
1] () 2 | Al [SEDELE 96.2 3.8 0.0 1| e |ms0| 3 | Cl [BmEX—EZ 636 | 120 244
21 2 | AL [0 65.7 | 325 1.8 1| 6 [mze| 3 | Cl [BHEX—EHR 549 | 207 | 244
2] @ 2 | Al |szvossbvaoxsa| 719 144 137 1| 6 [mas| 3 [ Cl [amx—BFE & 327 | 429 244
2] ® 2 | Al |h+EOXERE 858 | 13.3 0.9 1| M6 |mse| 2 | Cl [amtrx—=vE0mvs | 489 | 268 | 244
2] @ 2 | A2 |mAIxXERE 66.3| 196 [ 140 1| f6 [ms6| 2 | Cl [HEHEX—KBEVLERR| 23.0| 527 | 244
2] (5 2 | A2 |957D5HERY 471 | 518 1.1 1|6 |ms6| 2 | C1 [BEEX—F5FIE | 594 | 163 | 244
2/ ® | @ |3 [A2 |RDBEARY 760 | 225 1.5 2 | Bt 8 | Bl |[FEREW 19.8 | 76.6 3.7
2/ | @ |3 [A2 |ROBEARY 559 | 384 5.7 2| B2 8 | Bl |[FEREW 107 | 59.1 | 303
3| m 3 |Al|EBORLA 88.8 71 4.1 2 [ B3 [9571] 8 | Bl |[&H0HEHTY 56.0 [ 39.7 43
3] @ 4 | Bl [HBORLA 81.3 | 139 4.8 2 [ B33 [9572| 8 | B1 |[&HDHEAHTY 365 | 58.0 5.5
3] ® 4 | B2 [MBORLA 31.9 | 60.7 74 2 [ B4 [mz0| 4 [l |BHAEX—EH 79.0 | 123 8.7
4] (1 3 | A2 [TERRE 314 | 471 215 2| M4 |mse| 3 | C1 |Bmtrx—BFR B 51.9 | 39.4 8.7
4] @ 4 | A2 | FERE 255 | 482 263 2 | R4 [mae| 3 [ C1 |ABmfEX—FBEPLERE| 522 | 39.1 8.7
4] @ 4 | B2 |[FERE 171 [ 370 459 2 | R4 ms@| 2 [C1 |BEBEAEX—ITHHE [ 785 | 128 8.7
1= & |2 | A2 |YWE—EFDHEH 95.2 3.8 1.1

1= LM |2 |A2 | WE—EFnES 665 | 181 | 154

1= 5 |2 [A2 |BE—EFnEE 736 | 159 | 10.6

1 B—] 2 [ 2 [A2 |EE—EFD5EH 82.3 | 14.2 35

1= & |2 [A|BE—EFnEE 46.4 | 443 9.4

1B=] X [ 3 [A2 [MEE—#HFERIEE| 656 | 332 1.2

1B=] Y [ 3 [A2 [MEE—#FERIEE| 580 | 415 0.5

1E=] 1 | 3 | Bl [wE—DERE 360 305 335

1E=] 2 | 3 | Bl [wE—DERE 349 | 202 449

1 |Fr 5 | A2 |MEE—ERA 826 | 14.8 26

1 |BE 5 | Bl |¥EE—ZHETR 415 535 5.0

IS 5 | B1 |#EE—1ERBA 65.7 | 279 6.3

1Mt 5 | Bl |#h:E—E A 52.3| 39.0 8.8

1B/ 7 | 2 | Bl |WE—RNBESR 739 1741 9.1

1B/ 4 |2 |Bl |WE—KRNBESR 370 | 539 9.1

1R/ 7 | 2 [Bl|¥WE—RNBESR 438 | 458 | 104

1[N 1 {2 |Bl|WE—RBTER 361 | 527 112




